
SPARE PART SALE POLICY 

TSC QATAR 

Date: 12-08-2025  

Please find the following Spare Part Sale Policy. Kindly use it as a reference while managing any spare part 
request.  

Accessories available for sale Remarks 

Supply cord/Removable Annexure 2 

Side Handles Annexure 2 

Grinder Protective Covers Annexure 2 

Detachable chuck for TE-C Rotary Hammer Annexure 2 

Vacuum Filter VC Annexure 2 

Vacuum Dust Bag Annexure 2 

Jaws RT-6 Annexure 2 

Piston for all DX tools Annexure 2 

Buffer For all DX tools Annexure 2 

BX + GX Fastener Guide Annexure 2 

Depth Gauge for the DCH Annexure 2 

Other Relevant DD accessories Check with TSC 

Water Connection Hose - DWP 10 Annexure 2 

Spare part sale for below tools allowed Remarks 

SFC-14, SFC-22 Refer Annexure 1, Electronics excluded 

UD 14 Refer Annexure 1, Electronics excluded 

AG 115-D, AG 115-S, AG 125-13S, AG 230-24D Refer Annexure 1, Electronics excluded 

DD 200 – Generation 1 Refer Annexure 1, Electronics excluded 



 
 

 

 

 

Seite – 2 – 

 
 
Annexure 1: Spare Part List Item No. Allowed for Sale 
 
 

 

 
 

Item no. Description Tool type 

2080603 [6] Brush holder SAG set AG 115-8D 03 

93862 Ball bearing 8X22X7 AG 115-8D 03 

2085894 [20] Bearing plate M14 assy AG 115-8D 03 

2079858 [24] Nut M14 AG 115-8D 03 

2079853 [23] Flange M14/22.2 AG 115-8D 03 

2152976 Ball bearing AG 115-8D 03 

2075551 [5] Carbon brush SAG set AG 115-8D 03 

2113938 [17] Stator 230V D packed AG 115-8D 03 

2140095 [9] Air deflector AG 115-8D 03 

2310472 [11] Motor housing AG 115-8D s AG 115-8D 03 

2080604 [4] Capacitor SAG AG 115-8D 03 

2080645 [2] Protective sleeve AG 115-8D 03 

2085699 [10] Housing end cap assy AG 115-8D 03 

2080646 [3] Switch 100V-230V AG 115-8D 03 

2080643 [16] Rotor SAG 230V assy AG 115-8D 03 

2080641 [18] Gear housing assy AG 115-8D 03 

2082765 [19] Lock button SAG set AG 115-8D 03 

2079843 [25] Protective cover D115 AG 115-8D 03 

Item no. Description Tool type 

2140095 [9] Air deflector AG 115-8S 

2202879 [17] Stator AG100/115-8S AG 115-8S 

2085818 [7] Switch S kit AG 115-8S 

2080645 [2] Protective sleeve AG 115-8S 

2085893 [10] Housing end cap 115-8S AG 115-8S 

2075551 [5] Carbon brush SAG set AG 115-8S 

2080603 [6] Brush holder SAG set AG 115-8S 

2202878 [3] Switch AG100/115-8S AG 115-8S 

2080641 [18] Gear housing assy AG 115-8S 

2085894 [20] Bearing plate M14 assy AG 115-8S 

2080643 [16] Rotor SAG 230V assy AG 115-8S 

2082765 [19] Lock button SAG set AG 115-8S 

2094383 [21] Sealing washer SAG AG 115-8S 

2079843 [25] Protective cover D115 AG 115-8S 

2079853 [23] Flange M14/22.2 AG 115-8S 

2079858 [24] Nut M14 AG 115-8S 

2079849 [27] Comfort side handle XSAG AG 115-8S 



 
 

 

 

 

Seite – 3 – 

Annexure 1.. 
 

Item no. Description Tool type 

282140 [109] Comfort side handle (M10) AG 125-13S 

2456843 [56] Motor housing 230V assy p AG 125-13S 

2152973 [10] Carbon brush SAG 125-13S AG 125-13S 

2153044 [23] Cover SAG 125-13S set AG 125-13S 

2153045 [25] Housing end cap SAG 125-1 AG 125-13S 

2153055 [42] Cover SAG 125-13S AG 125-13S 

2153040 [18] Switch SAG 125-13S AG 125-13S 

2153042 [20] Sliding block SAG 125-13S AG 125-13S 

2082766 [6] Protective sleeve AG 125-13S 

2152972 [4] Switch SAG 125-13S 100-24 AG 125-13S 

2152979 [16] Brush holder SAG 125-13S AG 125-13S 

2152898 [2] Stator SAG 125-13S AG 125-13S 

2153043 [21] Gear housing SAG 125-13S AG 125-13S 

2160875 [101] Lock button SAG 125-13S AG 125-13S 

2153048 [28] Bearing plate SAG 125-13S AG 125-13S 

2153031 [3] Rotor SAG 125-13S assy AG 125-13S 

93862 [14] Ball bearing 8X22X7 AG 125-13S 

2152976 [13] Ball bearing AG 125-13S 

2152978 [15] Magnetic ring SAG 125-13S AG 125-13S 

341429 [106] Protective cover 125 assy AG 125-13S 

435770 [103] Nut EU AG 125-13S 

2353468 [102] Flange univ assy.set AG 125-13S 
 

Item no. Description Tool type 

2161147 [14] Gear housing assy  AG 230-24D 

2161145 [29] Bearing plate assy  AG 230-24D 

2161204 [3] Rotor assy  AG 230-24D 

2160827 [10] Air deflector rear  AG 230-24D 

2160942 [15] Ball bearing  AG 230-24D 

2161988 [30] Toothed gear set  AG 230-24D 

2161201 [2] Stator assy  AG 230-24D 

2161202 [4] Switch assy  AG 230-24D 

2161148 [16] Grip assy  AG 230-24D 

2160928 [9] Carbon brush set  AG 230-24D 

2161149 [12] Brush holder assy  AG 230-24D 

2121708 [13] Protective cover Ø 230  AG 230-24D 

2353468 [101] Flange univ assy.set  AG 230-24D 

435770 [102] Nut EU  AG 230-24D 

303546 [100] Comfort side handle (M 14  AG 230-24D 

2161200 [1] Motor housing  AG 230-24D 



 
 

 

 

 

Seite – 4 – 

Item no. Description Tool type 

440486 [4] Motor SFC 22-A CE assy SFC 22 A  

2012577 [5] Gearing SFC 22-A kit SFC 22 A  

430911 Chuck SFC 14-A CE SFC 22 A  

2042538 [10] Brush holder SFC 22-A CE SFC 22 A  

419991 [6] Speed switch SFC 14-A ass SFC 22 A  

2106932 [20] Scale ring SFC 14/18/22-A SFC 22 A  

2306323 [100] Chuck SFH 22-A bulk SFC 22 A  

346664 [99] Screw 500 SERIES CHUCK SFC 22 A  

2010706 [2] Housing SFC 22-A assy SFC 22 A  

419997 [7] Reversing switch SFC 14/2 SFC 22 A  

   

Item no. Description Tool type 

419994 [4] Motor SFC 14-A CE assy SFC 14 A  

2106932 [20] Scale ring SFC 14/18/22-A SFC 14 A  

430913 [5] Gearing SFC 14-A CE SFC 14 A  

346664 [100] Screw 500 SERIES CHUCK SFC 14 A  

2306323 [100] Chuck SFH 22-A bulk SFC 14 A  

419991 [6] Speed switch SFC 14-A ass SFC 14 A  

2042534 [10] Brush holder SFC 14-A CE SFC 14 A  

430912 [2] Housing SFC 14-A CE SFC 14 A  

419997 [7] Reversing switch SFC 14/2 SFC 14 A  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

 

 

 

Seite – 5 – 

Annexure 1… 
 

Item no. Description Tool type 

279491 [75] O-ring 17X2.5 DD 200-G1 

279411 [74] Shaft BL DD 200-G1 

51157 [63] Rotary shaft seal AS30X62 DD 200-G1 

207499 [106] O-ring 30X2.5 DD 200-G1 

279361 [91] Shaft Z26 DD 200-G1 

279346 [134] Hex skt hd cap screw M12x DD 200-G1 

278807 [115] O-ring 10.85X2.75 DD 200-G1 

280027 [42] Lightguide 1 short DD 200-G1 

280094 [119] Water swivel packed DD 200-G1 

302058 [120] Rotary shaft seal 40X55X7 DD 200-G1 

282987 [130] Chuck DD-CS-BL DD 200-G1 

305904 [125] Chuck DD-CS-BS/BR DD 200-G1 

279514 [140] Spade grip assy DD 200-G1 

279512 [141] Torx-soc ov screw M5X20 DD 200-G1 

2024715 [151] Supply cord GB 230V PRCD DD 200-G1 

208100 [54] Protective sleeve 10MM DD 200-G1 

279321 [23] Housing DD 200-G1 

279461 [41] Lightguide 2 DD 200-G1 

207057 [44] Protective cap DD 200-G1 

280029 [27] Housing end cap printed DD 200-G1 

17904 [43] Switch 100V-240V DD 200-G1 

280097 [18] Carbon brush 220V-240V se DD 200-G1 

282143 [20] Brush holder assy DD 200-G1 

281791 [1] Motor housing DD 200-G1 

282067 [2] Stator 230V DD 200-G1 

279693 [3] Staple DD 200-G1 

279525 [9] Bearing plate assy DD 200-G1 

279316 [13] Ball bearing 12X32X10 DD 200-G1 

279318 [15] Sleeve DD 200-G1 

280091 [70] Safety clutch packed DD 200-G1 

280090 [65] Bearing cover packed DD 200-G1 

280089 [55] Gear housing packed DD 200-G1 

51139 [56] Grooved ball bear. 30X62X DD 200-G1 

302054 [107] Bushing DD 200-G1 

214893 [71] Shaft z14 assy DD 200-G1 

46833 [111] Water connection assy DD 200-G1 
 
 
 
 
 



 
 

 

 

 

Seite – 6 – 

Annexure 2: Accessories available for direct sale 
 

Supply cord/Removable Tool type 

2127161 Supply cord 230V 4m industry TE 2000/TE 1000 

2127089 Supply cord 230V 4m TE 2000/TE 1000 

2127160 Supply cord 110V 4m TE 50 AVR  

   

   

Side Handles Tool type 

393990 Chiselling handle assy TE 1000 AVR  

2107829 Side handle TE SH-STD 2 TE 1000 AVR  

330083 Side handle assy TE 40   

389724 Chiselling handle assy TE 1000 AVR  

327490 Side handle assy UD 30   

282140 Side handle (M10) assy AG 125 13S  

2079850 Side handle LAG AG 180 20D  

2079844 Protective cover D180 AG 180 20D  

2191608 Comfort side handle SF6H-BL assy SF 6H A22 

   

   

Grinder Protective Covers   Tool type 

2079843 Protective cover D115 AG 115 7D  

341429 Protective cover 125 assy AG 125 13S  

303546 Side handle (M 14) assy AG 230 20D  

2079849 Side handle XSAG AG 100 7S  

2121708 Protective cover Ø 230 AG 230 20D  

   

   

Industrial plug   Tool type 

329602 
Electric plug 2P+E 16A-6h/230V 

blue ALL TOOLS TYPE 

   

   

Detachable chuck Rotary Hammers   Tool type 

2051839 Chuck TE-C/TE 30 TE 16 / TE 30 

355419 Chuck packed TE 2 M /TE 7-C 

2296384 Chuck TE-C dicker GK packed 
TE 3-M/ TT 6-
A22 

2123166 Quick-release chuck packed TE 3 M  

   
 

 

 
   



 
 

 

 

 

Seite – 7 – 

Annexure 2.. 

Vacuum Filter VC   Tool type 

2192229 Filter VC 5/VC 75-1 dry VC 5 

2261257 Filter VC 20/40/150-X univ VC 20/VC 40 

2121386 Filter VC 20/40 dry VC 20 U  

2300091 Filter VC 20/40/150 univ VC 40L-X 

2145833 
Filtration bag DD-WMS 100 MP5 
large DD WMS 100  

   

   

Piston/ Buffer for  DX tools   Tool type 

373297 Piston X-5-460-P8 DX 460   

373330 Buffer X-460-B DX 460   

370844 Nail magazine MX 72 assy DX 460   

304529 Fastener guide X-460-F8 DX 460   

2046162 Piston X-5-460 PIE-XL DX 460   

377813 Piston X-460 PIE-L DX 460   

   

   

BX + GX Fastener Guide/ Magazine   Tool type 

2102273 Fastener guide X-FG G2_01 packed GX 2   

2116415 Fastener guide X-FG B3-IF packed BX 3 IF  

2101256 Washer holder X-WH  B3 packed BX 3 IF  

2179275 
Fastener guide X-FG B3-IF 02 
packed BX 3-ME 

2215885 Washer holder X-WH G2 magnetic GX 120 

2197626 Fastener guide X-FG B3-BT M BX 3 IF  

2106033 Nail magazine X-M40 G3 assy GX 120   

2122214 Nail magazine X-M30 G2 packed GX 2   

   

Jaws RT-6   Tool type 

2356349 Jaws RT 6-22 (02) set RT 6-22 

   

   

Light Diamond tools   Tool type 

406660 Seal outside DD ST 150 U 

207700 Seal DD ST 150 U 

2046233 Water collector system DD-WC-30 DD 30W 

365867 Hose assy DWP 10 

279660 Seal DD HD30 

2008181 Side handle DD-SH-150 DD 150 U  
 
 


